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Q.1 Sixboys J, K, L, M, N and P are sitting around a circular table facing towards the centre. J is
second to the left of P. N is the immediate neighbour of P and J. K is second to the right of
N. L is to the immediate to left of M. Who is third to the left of N?

Ans  of 1L
X 2.k
X 3Mm
X ap

Question ID : 99836741249

Q.2 By folding the given paper, which of the following cube can be made?

2
M| K
T|9

Ans X" 1.Both | and Ill

X 2.0nlyl

/5 3.BothIland Il

W 4 oniyl

[ Question ID : 99836741262

Q.3 Height of 8 boys B1, B2, B3, B4, B5, B6, B7 and B8 are compared. Height of B3 will be least
or maximum. Height of B4 is more than B6. Height of B8 is less than only 3 boys. Height of
B2 is more than B1 but less than B8. Height of B2 is less than B3. If the height of B4 is less
than B1, then which of the following sequence of their heights may be correct?

Ans x 1. B3>B7 = B5>B8>B2>B4>B1>B6

/< 2.B3-B5-B7>B8>B2>B6>B1>B4

( 3. B3>B5 = B7>B8>B2>B1>B4>B6
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/X 4.B3>B7>B5>B2>B8>B1>B4>B6

[ Question ID : 99836741251

Q.4 Minute hand of a clock is firstly rotated by 194° in clockwise direction. Then, it is rotated by
263° in anticlockwise direction. Now, it is rotated by 342° in anticlockwise direction. It is
finally rotated by 612° in clockwise direction. Now, minute hand is facing towards south
direction. In which direction it was facing initially?

Ans X" 1.South east
X 2. North east
x 3. South west

« 4. North west

Question ID : 99836741259

Q.5 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. All pink are blue.
Il. Some blue are red.

Conclusions:

|. Some red are pink.
11. No red is blue.

Ans x 1. Only conclusion | follows
X 2. Both conclusion | and Il follows
x 3. Only conclusion II follows

« 4. Neither conclusion | and Il follows

[ Question ID : 99836741252

Q.6 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. Some A are K.
Il. Some M are K.
1Il. No M is J.

Conclusions:
I. Some J are not M.

Il. Some M are A.
1Il. No K is A.

Ans « 1. Only conclusion | follows
X 2. Both conclusion | and Il follows
x 3. Neither conclusion |, Il and Ill follows

X 4. Both conclusion | and Il follows

[ Question ID : 99836741253

Q.7 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

PRAT, ULHC, ZFOL, EZVU, ?
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Ans & 1 KTDD

25 2. JTDE
X 3.L1CD
W 4.0TCD

Question ID : 99836741244

Q.8 In the following question, select the related words from the given alternatives.

Bat : Cricket :: Ball : ?
Ans X' 1 Chess

X 2. Skating
x 3. Swimming

i 4. Football

[ Question ID : 99836741246

Q.9 A series is given with one term wrong. Select that wrong term from the given alternatives.

68, 32, 102, 136, 238, 374

Ans X" 1.102
W 232
X 3.238
X 4.68

[ Question ID : 99836741255

Q.10 Point R is 10 km to the south of point J. Point R is 14 km to the east of point S. Point S is 12
km to the north of point K. Point P is 7 km to the east of point K. In which direction is point
P from point J?

Ans X" 1. North west
x 2. South west
X 3. South east
( 4. North east

[ Question ID : 99836741258

Q.11 In the following question, select the odd letter/letters from the given alternatives.
Ans 1.TWZ

2. FIL
3. RUX
4.LPS

[ Question ID : 99836741245

Q.12 Identify the diagram that best represents the relationship among the given classes.

Alphabet, Word, Number
Ans 1.

2.
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[ Question ID : 99836741256

Q.13 In the following question, select the related letter pair from the given alternatives.
GRA:MMI :: ?
Ans 1.MIG:SDO
2. LAT :RUB
3. RUB: XQJ
4. FRO : UMN

[ Question ID : 99836741247

Q.14 From the given answer figures, select the one in which the question figure is
hidden/embedded.

Ans 1.

Eal

[ Question ID : 99836741261

Q.15 In a certain code language, ‘Robin is smart’ is written as ‘7 6 4’, ‘People are intelligent’ is
written as ‘8 2 1’, ‘Smart are good'’ is written
as ‘6 9 8'. What can be the code for ‘is’ in that code language?

Ans 1.4
2.9
3.8
4.2

[ Question ID : 99836741248

Q.16 Six persons G, H, R, T, U and V like any one car among C1, C2, C3, C4, C5 and C6. None of
them likes same car. T likes C3. V and G don't like C1 and C2. R likes either C6 or C2. H
don't like C5. U likes either C2 or C6. Which of the following pair can represent the cars of U
and V respectively?

Ans 1.C2,C5
2.C6,C1
3.C3,C4
4.C1,C5

Question ID : 99836741250

Q.17 In the following question, select the related number from the given alternatives.
12:140::29:?

Ans 1.839

2.957

3.837
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4. 845

[ Question ID : 99836741254

Q.18 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

JR11, LV13, NZ15, ?, RH19
Ans 1.PC17

2.0C16
3.PD17

4.QD18

[ Question ID : 99836741243

Q.19 In the following question, select the figure which can be placed at the sign of question mark
(?) from the given alternatives.

Ans 1.

> owon

[ Question ID : 99836741260

Q.20 How many plastic are table?

Ans 1.12
2.15
3.16
4.19

[ Question ID : 99836741257

Section : General Awareness

Q.1 IR Fe, HiF Fe R ThaiT ge eR! &t fFa Wt W & w-ma sar &2
Ans 1. fOSRH

2. AforR

3. fRAfFnw

4. Farer™

[ Question ID : 99836741263

Q.2 Which country won Copa America 2019?
Ans 1. Brazil

2. Peru
3. Chile
4. USA
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l Question ID : 99836741282

Q.3 Rulers of which of the following dynasty were known as Lords of the Dakshinapatha?
Ans 1. Pandyas

2. Satavahanas
3. Cheras
4. Cholas

[ Question ID : 99836741275

Q.4 Indravati river is a tributary of
Ans 1. Godavari river

2. Ganga river
3. Cauvery river

4. Krishna river

[ Question ID : 99836741271

Q.5 Which of the following statements regarding external debt of the government of India is
correct?

I. The Union Government does not borrow directly from international capital markets.
1l. Governments foreign currency borrowing takes place from multilateral agencies and
bilateral sources, and is a part of official development assistance (ODA).

11l. At present, the Government of India borrow from the international capital markets.

Ans 1.landlll
2. land Il
3. and 1Nl
4. 1land ll

Question ID : 99836741266

Q.6 RrumHI @l Twd g veH & & O, Twa @R & eIl & agrar 8, fafv = awai 4 48,
o 3R A2 3Tt Y @ i et 82

Ans 1.9%hs
2. JErd
3. YR @re e (FCI)
4. Tt T8 g T 318

[ Question ID : 99836741265

Q.7 The book ‘New Delhi Conspiracy’ is written by .
Ans 1. Meenakshi Lekhi

2. Pranab Mukherjee
3. Ramchandra Guha

4. Amish Tripathi

[ Question ID : 99836741277

Q.8 HeHWI | arerdre Fi @eH, IS § Yad fl @eH au IREs F gy e ____ &
U IeUTEh &1

Ans
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1. qiar
2. Frrfrat

o

3. SiagTse
4. gt

[ Question ID : 99836741270

Q.9 fre TSt QuRe 7 a<h Rar 6 ger affe ofik gl dwpfa & st arge orga €1 &2
Ans 1. gRfiew

2. SifaRTa Got
3. 3. . o e
4. 8t &ft. 3R, s

[ Question ID : 99836741273

Q.10 Vijay Hazare Trophy is associated with which of the following sport?
Ans 1. Hockey

2. Football
3. Cricket
4. Kabbadi

Question ID : 99836741281

Q.11 Ghoomar is the regional dance form of which Indian state?
Ans 1. Haryana

2. Rajasthan
3. Uttar Pradesh
4. Punjab

Question ID : 99836741264

Q.12 Scientists of which university have developed a new material called ‘black gold’ which can
absorb light and carbon dioxide?

Ans 1. Tata Institute of Fundamental Research (TIFR)
2. lIT Kharaghpur
3. IT Madras

4. 11SC Bangalore

[ Question ID : 99836741276

Q.13 The President can remove the chairmen of Union Public Service Commission from the
office under which of the following circumstances?

1. If he is adjudged an insolvent.

1. If he engages, during his term of office, in any paid employment outside the duties of his
office.

Ans 1.0nlyll
2.0nly |
3. Neither I nor Il

4. Bothland Il
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Question ID : 99836741279

Q.14 The defect of vision in human beings in which the power of accommodation of the eye
decreases with ageing and the near point gradually receds away is known as

Ans 1. Hypermetropia

2. Cataract
3. Myopia

4. Presbyopia

[

Question ID : 99836741267

Q.15 Red and Yellow soils develop a reddish colour due to diffusion of
metamorphic rocks.

Ans 1. Copper
2. Iron
3. Zinc

4. Manganese

in crystalline and

Question ID : 99836741272

Q.16 Which of the following statement(s) regarding use of bleaching powder is/are correct?

I. It is used as an oxidising agent in chemical industries.
1. It is used for disinfecting drinking water to make it free of germs.

Ans 1. Neither I nor |l
2.0nly |
3.Bothland
4.0nly 1l

Question ID : 99836741269

Q.17 EHA[ & AT & IR, HiA-fanfges o aref ATl
Ans 1.9 TR AAHR

2. T Jame
3. SmTRAt & aifther a1 AdT
4. g qT Aiet 1 #3fY

Question ID : 99836741274

Q.18 Which of the following constitutional provision has not been borrowed from Irish
constitution by Indian constitution?

Ans 1. Post of Vice-President
2. Directive principles of state policy
3. Nomination of members to Rajya Sabha

4. Method of election of President

Question ID : 99836741280

Q.19 Pines and Cycas belong to .

Ans 1. Angiosperm

2. Thallophyta
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3. Bryophyta

4. Gymnosperm

[ Question ID : 99836741268

Q.20 Who was awarded United Nation's Equator Prize for 2019 for their outstanding effort for
nature-based solution to climate change and sustainable development?

Ans 1. Deccan Development Society (DDS)
2. Modi Foundation
3. Vasudha Foundation

4. National Wildlife Federation

Question ID : 99836741278

Section : Arithmetic Ability

Q.1 5 men can complete a work in 40 days and 6 women can complete the same work in 30
days. In how many days 20 men and 18 women can complete the same work?

Ans 1.12days
2.10 days
3. 5days
4.15 days

[ Question ID : 99836741297

Q.2 15% of the total votes are declared invalid votes. Three candidates P, Q and R contested the
election. P, Q and R received 45%, 30% and 25% votes respectively of the total valid votes. If
total number of votes are 1600, then R received how much votes less than P?

Ans 1.292
2.168
3.272
4.192

Question ID : 99836741290

Q.3 A man has Rs 240 in coins of 1-rupee, 2-rupees and 5-rupees. The number of coins of each
denomination is equal. What is the total number of coins he has?

Ans 1.30
2.90
3.60
4.120

[ Question ID : 99836741289

Q.4
Ans 1.1/8

2.1/4
3.8
4.4
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[ Question ID : 99836741285

Q.5 Which one among v12 +v3,v11 + 2, V5 +v10 and 1 + V14 is the largest?
Ans 1.V12++vV3

2.Y5+v10
3.v11+2
4.1+v14

[ Question ID : 99836741287

Q.6 If 87N4 is divisible by 8, then what is the value of N?
Ans 1.4

2.2
3.6
4.5

Question ID : 99836741283

Q.7
Ans 1.111:36

2.9:28
3.36:111
4.28:9

Question ID : 99836741302

Q.8 After 9 years, how much simple interest (in Rs) will be received on a sum of Rs 14000 at the
rate of 14% per annum?

Ans 1.19460
2.18140
3.18120
4.17640

[ Question ID : 99836741294

Q.9 Diameter of wheel of a cycle is 21 cm. The cyclist takes 150 minutes to reach a destination
at a speed of 72.6 km/hr. How many revolutions will the wheel make during the journey?

Ans 1.270500
2.275000
3.270000
4.250700

Question ID : 99836741296

Q.10 Raman calculates profit/loss on selling price. Rajat calculates profit/loss on cost price.
Raman suffered a loss of 16.66% on selling an article. Rajat earned a profit of 50% on
selling an article. Selling price of both the articles is Rs 1200. Cost price of Raman's is what
percentage of cost price of Rajat’s article?

Ans 1.275 percent

2. 175 percent
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3. 225 percent

4. 150 percent

Question ID : 99836741291

Q.11 What will be the average of first 14 positive odd numbers?
Ans 1.18

2.16
3.14
4.15

[ Question ID : 99836741288

Q.12 How many two digit numbers are there which are not divisible by 5?
Ans 1.70

2.68
3.72
4.75

[ Question ID : 99836741284

Q.13 A man travelled a certain distance by train at the rate of 30 km/hr and walked back at the
rate of 3 km/hr. If the whole journey took 22 hours, then what was the total distance covered
by men?

Ans 1.100 km
2.60 km
3.50 km
4.70 km

[ Question ID : 99836741295

Q.14
Ans 1.42.35 percent

2. 50.35 percent
3. 46.35 percent
4. 54.35 percent

[ Question ID : 99836741300

Q.15 Rahul and Raman started a business by investing Rs 9,000 and Rs 6,000 respectively. After
4 months, Rahul left the business and Mohan joined the business by investing Rs 15,000. At
the end of the year, there was a profit of Rs 57,000. What will be the share of Mohan in the
profit?

Ans 1.Rs 38000
2. Rs 44000
3. Rs 30000
4. Rs 32000

[ Question ID : 99836741293

Q.16 The sum of the present ages of a father and his son is 110 years. 5 years ago their
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respective ages were in the ratio of 3 : 7. After 20 years what will be the ratio of ages of
father and son?

Ans 1.2:1
2.3:2
3.11:5
4.19:11

[ Question ID : 99836741292

Q.17
Ans 1.

H> W N

Question ID : 99836741298

Q.18
Ans

—_

. 132.91 percent
2.122.91 percent
3.152.91 percent
4

. 142.91 percent

Question ID : 99836741301

Q.19 Two sides of a plot are 24 metre and 10 metre and the angle between them there is perfect
right angle. The other two sides of plot are 15 metre each and the other three angles are not
right angles. What is the area of the plot?

Ans 1.
2.
3.

[ Question ID : 99836741299

Q.20
Ans 1.10

2.8
3.5
4.9

Question ID : 99836741286

Section : General English

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The editor (1)/ gave him the deadline (2)/ for finish the work (3)/ No error (4)
Ans 1. The editor
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2. No error

3. for finish the work

4. gave him the deadline

[ Question ID : 99836741304

Q.2 Rearrange the parts of the sentence in correct order.

P: shortage of a

Q: are facing

R: natural fodder

S: sunderban tigers

Ans 1.QSRP
2. PQRS
3. SQPR
4. SQRP

[ Question ID : 99836741310

Q.3 Improve the bracketed part of the sentence. If there is No improvement, choose 'No
improvement'.

The lady (died) before she reached the hospital?
Ans 1. No improvement
2.die
3. dying
4. had died

Question ID : 99836741305

Q.4 Choose the word that can substitute the given sentence.

Who behaves without moral principles?
Ans 1. Lunatic

2. Stoic
3. Polyglot

4. Immoral

Question ID : 99836741317

Q.5 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

This news is (1)/ too good (2)/ to be true (3)/ No error (4)
Ans 1. No error

2. too good
3. to be true

4. This news is

[ Question ID : 99836741303

Q.6 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans 1. Hieght
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2. Feiry
3. Conscience

4. Existance

[ Question ID : 99836741314

Q.7 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

The origin of ice-cream dates back
Ans 1.at

nearly half-a-century.

2. from
3.into

4.1t0

Question ID : 99836741307

Q.8 Choose the word that is opposite in meaning to the given word.

Forgo
Ans 1. Beautiful

2. Wane
3. Avoid
4. Rise

Question ID : 99836741312

Q.9 Improve the bracketed part of the sentence. If there is No improvement, choose 'No
improvement'.

This property belongs to (Kansals).
Ans 1.Kansal's

2. No improvement

3. Kansals’

4. Kansal

[ Question ID : 99836741306

Q.10 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Apple of someone’s eye
Ans 1. Someone loved very much

2. A poor plan
3. In disorder

4. An important day

Question ID : 99836741315

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

She her portrait in the main hall.
Ans 1. hanged
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2. hung
3. had hunged
4. hang

Question ID : 99836741308

Q.12 Choose the word that means the same as the given word.

Apathy
Ans 1. Apex

2. Lethargy
3. Yell

4. Disgust

Question ID : 99836741311

Q.13 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans 1. Argewment
2. Arguement
3. Argument

4. Arguemant

Question ID : 99836741313

Q.14 Rearrange the parts of the sentence in correct order.

P: Thereis a
Q: type of chess
R: with short
S: time limits
Ans 1. SQRP
2. RSQP
3. SRQP

4. PQRS

[ Question ID : 99836741309

Q.15 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Burn the midnight oil
Ans 1. To earn money to live

2. To keep quite
3. Reduce the power of something

4. To study till late of night

Question ID : 99836741316

Comprehension:

Read the following information carefully and answer the given questions.

By the mid 19th century, mass production of paper patterns, the emergence of the home
sewing machine and the convenience of mail order catalogues brought fashionable clothing
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into the American home. By the early 20th century, home economists working in extension
and outreach programmes taught women how to use paper patterns to improve the fit and
efficiency of new garments as well as how to update the existing ones.

Teachers of home economics traditionally made home sewing a critical part of their
curriculum, emphasising self sufficiency and resourcefulness for young women. However,
with the increasing availability of mass produced clothing in catalogues and department
stores, more and more women preferred buying garments to making them. As a result, home
economists shifted their attention to consumer education. Through field study, analysis and
research, they became experts on the purchase and preservation of ready to wear clothing for
the family, offering budgeting instruction targeted at adolescent girls. Modern home sewing
made it possible for American women to transcend their economic differences and
geographic locations with clothing that increasingly standardised. The democratisation of
fashion continued through the 20th century as the ready-to-wear market expanded and home
sewing became more of a pastime than necessity.

SubQuestion No : 16
Q.16 Which of the following is the main focus of the passage?

Ans 1. Historical shifts in home sewing from the mid 19th century through the 20th century
2. Modernisation of home sewing
3. Changing role of home economists as a result of changes in the world

4. Impact of ready-to-wear and mass-produced fashion on home home sewing

| Question ID : 99836741322

| — -—

Comprehension:
Read the following information carefully and answer the given questions.

By the mid 19th century, mass production of paper patterns, the emergence of the home
sewing machine and the convenience of mail order catalogues brought fashionable clothing
into the American home. By the early 20th century, home economists working in extension
and outreach programmes taught women how to use paper patterns to improve the fit and
efficiency of new garments as well as how to update the existing ones.

Teachers of home economics traditionally made home sewing a critical part of their
curriculum, emphasising self sufficiency and resourcefulness for young women. However,
with the increasing availability of mass produced clothing in catalogues and department
stores, more and more women preferred buying garments to making them. As a result, home
economists shifted their attention to consumer education. Through field study, analysis and
research, they became experts on the purchase and preservation of ready to wear clothing for
the family, offering budgeting instruction targeted at adolescent girls. Modern home sewing
made it possible for American women to transcend their economic differences and
geographic locations with clothing that increasingly standardised. The democratisation of
fashion continued through the 20th century as the ready-to-wear market expanded and home
sewing became more of a pastime than necessity.

SubQuestion No : 17
Q.17 Which of the following is true with reference to democratisation?

Ans 1. Altering or modifying in a beneficial way.
2. Gradually becoming acceptable for an entire nation.
3. Transitioning to a more democratic political regime.

4. Becoming widely available to a populace.

Question ID : 99836741319

Comprehension:
Read the following information carefully and answer the given questions.

By the mid 19th century, mass production of paper patterns, the emergence of the home
sewing machine and the convenience of mail order catalogues brought fashionable clothing
into the American home. By the early 20th century, home economists working in extension
and outreach programmes taught women how to use paper patterns to improve the fit and
efficiency of new garments as well as how to update the existing ones.

Teachers of home economics traditionally made home sewing a critical part of their
curriculum, emphasising self sufficiency and resourcefulness for young women. However,
with the increasing availability of mass produced clothing in catalogues and department
stores, more and more women preferred buying garments to making them. As a result, home
economists shifted their attention to consumer education. Through field study, analysis and
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research, they became experts on the purchase and preservation of ready to wear clothing for
the family, offering budgeting instruction targeted at adolescent girls. Modern home sewing
made it possible for American women to transcend their economic differences and
geographic locations with clothing that increasingly standardised. The democratisation of
fashion continued through the 20th century as the ready-to-wear market expanded and home
sewing became more of a pastime than necessity.
SubQuestion No : 18

Q.18 Which of the following means the same as efficiency?

Ans 1. Inability
2. Ineptness
3. Adequacy

4. |dleness

[ Question ID : 99836741323

Comprehension:

Read the following information carefully and answer the given questions.

By the mid 19th century, mass production of paper patterns, the emergence of the home
sewing machine and the convenience of mail order catalogues brought fashionable clothing
into the American home. By the early 20th century, home economists working in extension
and outreach programmes taught women how to use paper patterns to improve the fit and
efficiency of new garments as well as how to update the existing ones.

Teachers of home economics traditionally made home sewing a critical part of their
curriculum, emphasising self sufficiency and resourcefulness for young women. However,
with the increasing availability of mass produced clothing in catalogues and department
stores, more and more women preferred buying garments to making them. As a result, home
economists shifted their attention to consumer education. Through field study, analysis and
research, they became experts on the purchase and preservation of ready to wear clothing for
the family, offering budgeting instruction targeted at adolescent girls. Modern home sewing
made it possible for American women to transcend their economic differences and
geographic locations with clothing that increasingly standardised. The democratisation of
fashion continued through the 20th century as the ready-to-wear market expanded and home
sewing became more of a pastime than necessity.

SubQuestion No : 19

Q.19 According to the passage the advent of mail order catalogues altered the role of home
economists because

Ans 1. Their focus shifted to instruction on budgeting, buying and preserving clothing
2. Women ceased Sewing, so home economists had to teach other subjects
3. Home economists had to compete with the ready - to - wear market place

4. Mass produced clothing rendered their jobs obsolete

[ Question ID : 99836741321

Comprehension:
Read the following information carefully and answer the given questions.

By the mid 19th century, mass production of paper patterns, the emergence of the home
sewing machine and the convenience of mail order catalogues brought fashionable clothing
into the American home. By the early 20th century, home economists working in extension
and outreach programmes taught women how to use paper patterns to improve the fit and
efficiency of new garments as well as how to update the existing ones.

Teachers of home economics traditionally made home sewing a critical part of their
curriculum, emphasising self sufficiency and resourcefulness for young women. However,
with the increasing availability of mass produced clothing in catalogues and department
stores, more and more women preferred buying garments to making them. As a result, home
economists shifted their attention to consumer education. Through field study, analysis and
research, they became experts on the purchase and preservation of ready to wear clothing for
the family, offering budgeting instruction targeted at adolescent girls. Modern home sewing
made it possible for American women to transcend their economic differences and
geographic locations with clothing that increasingly standardised. The democratisation of
fashion continued through the 20th century as the ready-to-wear market expanded and home
sewing became more of a pastime than necessity.
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SubQuestion No : 20
Q.20 Which of the following is not related to a decline in home sewing?
Ans 1. Curriculum changes in home economics courses

2. Mail order catalogues
3. Changing fashion trends

4. The availability of apparel in retail outlets

[ Question ID : 99836741320

Section : General Hindi

Q.1 Ry 7y f<h Tum= & R4 gerar @ o 7ra fifSig)
ST FR & TR Bl T Afhagm |
Ans 1. STe-dTel F9 710
2. @if R{gR U
3. & aEH R e
4. %as gl 5=

Question ID : 99836741337

Q.2 fRu g aret 7 gIg are wd RSl
Ans 1.3 & I &1 W UiadT 38T

2. 318 # A WM W Uigar @l
3. gIs § AT o1 W ui=di 38T
4. A7 7 e A utud! T g1l famar

[ Question ID : 99836741332

Q.3 Ry g gereR @1 o1 7@ S
T[OT T
Ans 1.8
2. 9} gt
3. T AT
4. IR AT

Question ID : 99836741336

Q.4 f2g 7 arerr A gdam w19 RSl
Tg 31U+ foarst & |1y wpe STt 1
Ans 1.3+
2.8

3. el
4. & Ty

[ Question ID : 99836741326
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Q.5 2y 7y ez 1 faes wra A9l
oioft
Ans 1. 3rareft
2. fefedt
3. fAdfa
4. faerft

Question ID : 99836741328

Q.6 Ry 7y gt # IRa T R farm Rig 79 AifSal
ga____ dAdedimadier

Ans 1.,1
2.11
3.1,

Question ID : 99836741338

Q.7 fg g aret & | wefar arr 74 FIfQI
Ans 1. Eue @ A1 781 S

2. Eues AT T8l &1
3. Eueh & gIRT AT T8 ST
4. Uk § I gRT a1 AT ST

Question ID : 99836741333

Q.8 w7 areryiar & forq Trefes 2reg wra HifSiw)
Sit erit & 9rT g

Ans 1. 3rciifehen
2. e

3. gy
4. Aifhen

Question ID : 99836741329

Q.9 fRy 7Y 2reg &Y TfY 7ra Hifsal
ST + 3T
Ans 1. 315d
2. ST
3. 3rid
4. afa

Question ID : 99836741324

Q.10 fg 7g 2reai & | g a1 79 FifSg)
Ans 1. gareg

2. @Y
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3. @y

4. Wy

Question ID : 99836741330

Q.11 g 71T a1 & ford UehR &1 Y= & Fi1a il

ST T & 73t aga @it gg
Ans 1.3 Q&Y

2. Yo g&Y
3. A gEy
4. IT9 qEY

[ Question ID : 99836741331

Q.12 fg g 21 o1 gafgarht 7ra fifsigl

i

Ans 1.7
2. el
3.39

4. 98

Question ID : 99836741327

Q.13 3 ¢ arer d 3fRa T R form g wma fifSial
greT Sft gt @« ufaaifvar & forg 9= foar man &
Ans 1.1,
2.,,
L2

3
4.,1

Question ID : 99836741335

Q.14 3y 71q 21z &1 THI 714 HifSig)
hHeTeheTdl
Ans 1. HHYRT 99
2. 2g 99
3. IqEY T
4. g

[ Question ID : 99836741325

Q.15 fu 7 areat A @ sy arem w9 HifSgl
Ans 1. 9g J&Ich hal & SR 7S W & ot

2. 98 gia o gl 87
3. I8 Y&k hal & Sif chel Hol TR 3@ ot
4. 98 J&dh el 8?7
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[ Question ID : 99836741334

Comprehension:

Qe eI & T &1 ST st eden ug duT Uik U o IR fadhenl # @ wel fadhed g

forelt oft Tacsr g it St Tep T Bielt & ST IRt TR gt &1 AT Yahdn $iR AE & Wi & forg
g S1fard T U § g gy St feneft oft g & o wafuR g &1 = & a1g vRa i dfda=
T 14 FAawR 1949 oY fEEUTT ohl R G bl IS & & J qr=udr < ot fopeft oft o aqt
TEATST § o foIg I FaeaTaehd], TR Hiieed 2T, IA1aC Gl 5T § TRerdT SR SfT-ehd, 96 TR
& 7aT Y Tehe e ot T SMIfS o7 g srfamd gta &1 ag et apor &t v & 1 =<8 Sieeiuh o
TR I G 1Y ¢ | TSI oh d1G 519 HYUT IAE i Yeh YA A dfel e 1@ hl STaTehd] AgYd g3 o1 &
eI f8&) @t feam mam aoft 14 Ramr 1949 i & ot rerTen & ug wR ot fokam | sirst
&Y o it SR B ER F, oro & 37 B T o § S 8 @ 21 & R F e e aned, wer e
e, ST I8! AT | FETeHT el ST 2 - ‘ITFHTHT & o1 ST 707 &1’ 3727aT it hrermafe Aurét e
e — E&Y et el Y o &1 fasy & & v 5 sroeh ug=m s & forg g9 faeRt i gge
Hfa Tt TTARanTY, GREr & Ug, WIEgHT ST St 78T T fSeht uier ehed gt fasy =18t eha,
I 3TE § Tel ST ST a18d & | T8T R Udh fay e 37 aivg qeg g ¢ foh fF o1 aref fRrd @&t
el T 78 81 8 oRaR & 35 Siam T € 3 99 8 &1 81 w1 R fGaRY & sieH-ver &1 T

T AT §1 §oTR UG At St 3 et 8- s &t 9t it € of o 3t i dar & forg 81 a8t
HER ST Sff = 9TST t ‘FgaT AR gt g1 afe A1 gl & e ot e 3ar Sg af f8EY oo agar
AR o e A < FaT A @ B

SubQuestion No : 16
Q.16 &) ymem Y wRa 9@ A SF-Hf vrar & Fu & ar=gar & w8 o6

Ans 1. IgHTET
2. fo¥efY srem
3. Tudhs T

4, ST

Question ID : 99836741341

Comprehension:

Qe eI & T &1 TerieT st eegden ug duT Uidh U o IR fadhenl § § el fadhed g

fonaft oft Tacsr g it Srueht Tep oo il & STt ITehT TR gl &1 TG YehdT 3R AE & Wi & forg
AT SifFard T @ gt anfdy ST fonedt oft wrp & o watulk gt @1 T & a1g YR 6 Sy
AT 14 AareR 1949 ot FFETT Bt HRA T Y ASTHINT o T § AT=7am &1 oftl fomeft oft aqrem ot
TEATST I o foIg I FdeaTIehdT, UeR e o1, IA1ae Gl 3 & TRerdT SR dFfiehdT, 99 TR
& TaT Y Trehe e ahT TTHe ST T[0T gt Srfamd gta &1 ag et apor & v F 1 =Y Steiuh o
TR T G I g | TSI oh 1& STo] YT L Y Geh G H A1 T 3@ chl STaTehd Hegd g3 a1 &
IRerd fE&Y oY feam mam asft 14 fRawk 1949 ot fE&) oY oraren & ue R smefi= fovar mam emet
& 9ToT ht 310A & TR H, 31 gY 3 F I o H hidATs 8t W8t &1 gF 8l F foraen 7Y argq, uen A8t
AT, I I8! ATE | FETCHT TTeft T R - LTS o for=7 &1 737 &1' Srerar off shmerafar Boré e
e — E&Y et Teepfal Y o &1 fasy F & s 5 eroef ugame smm & forg gaR faaRt i gge
g T | IFEARTHATY, YA & U, TIagIdl 311G 37k HgT U fSi-ehT UiET shed OxT fae] =181 UehdT,
I TS § T ST BT aTed 8| T8T R Udh fay e 37 givg qeg g g foh 3 or oref R @&t
Steft & 7 81 ) uRar & ud Sraw w0 & 3 9 B & &1 o gR el & sem-ueH o1 g
GLh ATEHH g1 g UG 3 Sft 3 gt @- Agsa & a1t i & ofiR wro St <t dar & forg &1 agf
PR I SfT 7 9T ot ‘Fgar AR et g1 afe gl fagl & e ot fRerTen 3xar ST ot @t s sgan
R & e FgS Y Jar A @Y R

SubQuestion No : 17
Q.17 & sman ) R & Se=- et A T haT ATE0 [T ST 8?2
Ans 1. gaiiog

2. gh
3. HAEWIR
4. afre

Question ID : 99836741342
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Comprehension:
ek TTRITST AT T 8| IR eht eATIYdeh Ue aT Uddh TSl & aR fadhedl & § Tal fadhed 1

fonelt oft Tac=r g T STt Tep TSIt & ST ITRT 7R Bidlt &1 LT YahdT SR AL & W & forg
AT Sifard w U & g =gy St foredt oft Ty & ford wafulk gt &1 TadsdT & arg YRd 6 dfidam
U1 14 fRAaraR 1949 ot IEETYT bt YR T hY AT & =0 7 A7 & oftl freft of sarem st
RTEATNT I o olg ITH FdATIRdT, TR Tfgcd T, TATGE i T T AT 7R SATchdT, T ThR
& AT i Hehe e et T ST 0T 819 S1fard g1t &1 g |t o7 8t smwn 7 81 =< STeieiuch &
TR T G T & | STTSIE o TG ST9 HYUT IE Y b G | a1 P T@ i SAaTehd HegH g8 df &
IReRI f8€) ot o mam) aaft 14 Rawer 1949 &t fFEY &t Irerame & ue R = foram mami emst
T AT &Y SR € ER #, 3o &) 2 H 1 o A ehfeTs B W8 &1 g9 ) A for et =g, ueHr et
TTE, ST TE) ATEa | FETeHT TTeft T e - ST 3 T 21 o &1” srera off spmerafa Bt e
T — ‘TG IR &R Fi srerr &1 sy & G o F Sroeht g 99 &6 forg AR ot &l ggg
g 7t TaRanTE, YREr & Ug, WIagHT ST 31 7 o fSeht nier ehed g1 fasy =8t uen,
3o STiE | e SrFifed g1 ATgd &1 U8l IR e A9y w1 29 gy a2 I8 ¢ foh ) ot ored R @t
Sielt G 781 &1 5 uRaR & 9o Saw ®u & 3 9o 86 &1 &1 3o g9 o=l & Sie-veT™ T Uah
TL<h AT g1 IR UG f&adl Sft 3 gl 8- s & St 1 & ofiR 7o St <kl da1 & forg 81 3@l
heflR T Sft 7 ATeT Bt ‘argar R et &1 afe S fagl o hue ot fAeTeRR ke STy at & e agar
AR 9 = 7S T a1 R B B

SubQuestion No : 18
Q.18 i-¥t wrem # wft o1 A g €7

Ans 1. 3@eft
2. St
3. @t
4. &4

l Question ID : 99836741343

Comprehension:

ok TTRITST AT T 8| IR aht AT gdeh Ue aT Ucidh U9l o IR fdchedl & & Tal fadhed |

fonelt oft Tact=r g it STt Gep 9o Bieft & STt ITahT TR Bt &1 AL YehdT 3R AE & Wi & forg
Ty Sifamd wu & gt anfey St fonedt oft Ty & ford gatalk gt 81 TardadT & arg WRd 6 dfdam
U1 14 AR 1949 ot FEEMTNT et YR T hl ASTHINT &b w0 7 J71=rer & ol fmeft off arem et
AT T o olq ITH GdeaTUendT, TgR i I, SHIEE chl T § TRAT 3R JH1+endT, T TR
% TaT ol Hene e et AT ST 0T g1 S1fHard 81d &1 g It o7 8t smwn 7 81 3= Seiiuch &
TR T G I & | TSI o 16 ST YT I Y b Gof H aTeT T 1@ ehl STTaTehd HT6gd g8 a1 &
IaReTia f8&) ot feam mam) aoft 14 fR{awr 1949 &l &) ot ro1aTen & ue wR St fopam | 3irst
T AT &Y SR € eR &, 30 &) 3 F T o A hioTs 81 38 &1 g ) A fore 78t =g, ueHr e
TATES, ST g1 AT | FGTeHT TTelt ST HU - ‘ITFHTHT & o1 ST [0 &1 377aT it hrermare BHurét e
U — B e e Y s &1 fasy # @&t v < Srueit ug=m s & forg gAR faaRt &t gge
Hfa 7t ITaRanTY, GRard & Ug, WagHT ST 31 Hg T fSeht uier ehed g1 fasy =18t uena,
Ik e J g SHfed g1 TTed &1 U8l WR Ueh e e 37 aivy ae ag & fob 3 ot oref R @t
it § 781 &1 B uRar & 39a Saw ®u & 3 g B8 €1 &1 o g9R iRl & sie=-ve= &t Uah
FL<h AT g1 IR UG fEadl it 3 gt 8- Agsa & a1t i & ofiR wre St ht da1 & forg 21 a@f
HER ST SfF = 9TST ht ‘FgaT AR gl g1 afe AT gl & hue ot e 2ar S1g a @& oo agan
HR T R A Y T AR @ R

SubQuestion No : 19
Q.19 IWR~H TeriRr o1 Sugsh 2fitfe ot gim?
Ans 1. 3raeft 9T AT HEd

2. T8} ot wg<a
3. T ST Sl Hgdd

4. 3Tt AT BT Hg<a

[ Question ID : 99836741344

Comprehension:

Qe eI f&am T &1 ST st eegden ug duT Uidh U o IR fadhenl # @ Hel fadhed g
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foneft oft Tacsr g it St Ten oo gielt & ST IRt R gl &1 T Yehdn iR IE & wifia & fog
AT iR wu § g 1Ry St foret oft g & ford waTuRk g1 @1 diaT & are vRa i dfdem
T 14 RHawR 1949 ot fFEITST YR WY hl ISTHINT & TY F AT & ot fonedt off e
TEATST § o foIg I TdeATaehdT, TR Hifged oI, IA1aC Gl 3 & TRerdT SR SFfTi-ehdT, 99 TR
% TaT Y Tehe e Rt TR SN T[uT g rfamd gta &1 g et apor & v A 81 =Y Stiuh e
TR T G AT § | TSI oh 16 ST YT I Y Geh Gof A A1 T 1@ chl STaTehd] He9H g3 a1
a1 Bt ant feam maml a=ft 14 w1949 ot fE&Y ot IrereaTe &6 ug R Sl foma mam airst
f&& T Rt o1 g eR H, oo 8 3 F oy o H hfeTS g 3@ 81 59 el F fora w1t @mea, v g
TG, ST ol ATEd | HSTeHT TTeY T e - AFHTNT o {7 327 T &1 Srerar oft swwerafar FHrardt ar
e — R et el &y o &1 fasy F & v = oroh e s & forg g9 faaRt i gge
g Tt TTARanTY, YRE™ & Ug, WIagHT ST Siidh I H fSeht v ehed gt fasy 78t eha,
I 3MTic § T ST 81T aTed & | T8T R Udh fa™ e 3 aivg qeg g g o 3 or aref R @t
aieht @ 7 &1 B uRaR & 50 e =0 € 3 T &) € &1 o gaR Rl & Simem-uer &1 ush
GLh AT g1 TR UG 53 Sft 3 gt &- Agsa & ot <fi & ofR wro St <t dar & forg 21 ag
PR T SfF 7 T ot ‘Fgar HR et g1 afe il gl & YA ot fAerTe dxar ST at @€t s sgan
R & e Age i Far A @ R

SubQuestion No : 20

Q.20 TEET & 1€ Sfaem= T A fFE v &t e wr=aar &) oft?

Ans

1. 15 Ra=R 1950
2. 19 fyawr 1949
3. 11 Rawr 1948
4. 14 R 1949

Question ID : 99836741340

Section : Discipline1

Q.1

Ans

Which of the following is the highest function of education?
1. To create a specialist individual who is concerned with only his field.

2. To create an individual who is a efficient technician.
3. To create integrated individual who.is capable of dealing with life as a whole.

4. To create an individual who conforms to a system

Question ID : 99836741364

Q.2
Ans

Which of the following is NOT a type of question?
1. Consequences Questions

2. Sensitive Questions
3. Provocative Questions

4. Divergent Questions

[ Question ID : 99836741347

Q.3
Ans

Which articles of Indian Constitution constitute right to equality?
1. Article 12to 16

2. Article 1410 18
3. Article 10to 14
4. Article 18 to 22

[ Question ID : 99836741360
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Q.4 Which of the following is NOT a correct pair of skill category — skill?
Ans 1. Emotional — Coping with stress

2. Thinking — Empathy
3. Thinking — Problem solving

4. Social - Self awareness

[ Question ID : 99836741358
Q.5 is the first school where children start their initial learning.
Ans 1. Family
2. Primary school
3. Play school
4. Society
[ Question ID : 99836741355

Q.6 Therole of
age.

is to teach children to behave in accordance to the expectations to their

Ans 1.values
2. critical thinking
3. motivation

4. discipline

Question ID : 99836741353

Q.7 For classes first to fifth, if there are between 61 to 90 students admitted in a class, then how
many teachers are required according to Right to Education Act, 2009?

Ans 1.5
2.2
3.4
4.3

[ Question ID : 99836741359

Q.8 Which of the following factors indirectly influence the education process and overall
development of society?

1. Historicity of society
1l. Geographical context
11l. Nature of state

Ans T.landlll
2.1land Ill
3.1, 1land Il
4.1andl

[ Question ID : 99836741357

Q.9 Which of the following Acts require the state to provide free and compulsory education to
all children in the age group of 6 — 14 years?

Ans 1. Compulsory Education Act

2. Education Act
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3. Right of Children to Free Education Act
4. Right of Children to Free and Compulsory Education Act, (RTE)

Question ID : 99836741350

Q.10 ______refers the rules, procedures and norms of production, distribution, consumption as
well as working system and patterns.

Ans 1. Economic institutions
2. Religious institutions
3. Social institutions

4. Political institutions

[ Question ID : 99836741363

Q.11 Which of the following is/are activities that can be used to foster creativity among children?

1. Invention

1. Multiple uses
111. Alliteration
IV. Rote learning

Ans 1.l llland IV

2.1, Nand IV
3.L 1L Nand IV
4.1, 1land Il

[ Question ID : 99836741349

Q.12 Which of the following has the goal of letting the children know what is right and what is
disapproved and to motivate them to behave in accordance with the students?

Ans 1. Attitude
2. Creativity
3. Discipline

4. Motivation

[ Question ID : 99836741351

Q.13 Which of the following pair is correctly matched?

I. Learning — Organism actually does
1l. Performance — Organisms is capable of doing

Ans 1.0nlyll
2.0nly |
3.Bothland

4. Neither | nor Il

[ Question ID : 99836741361

Q.14 Which of the following has been used as a means of evolving bureaucratic, centralized
governance of education by Britishers?

I. Text books
Il. Written examinations

Ans 1.0nlyll

2. Neither I nor Il
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3.Bothlandll
4. 0nly |

Question ID : 99836741362

Q.15 Which of the following is/are projective technique(s) under methods of assessing
personality?

I. Social-drama

Il. Parent’s views

11l Cloud picture test
IV. Blacky picture test

Ans 1.1 1, IIland IV
2.1, lland IV
3., 1land Il
4.1, 1lland IV

[

Question ID : 99836741346

Q.16 According to John Dewey, the ultimate objective of school and schooling process is to

I. faster the growth of social progress
11. expansion of democracy

Ans 1.0nlyl
2.Bothland Il
3. Neither I nor Il

4. 0Only Il

Question ID : 99836741356

Q.17 Which of the following is NOT a characteristic of personality?
Ans 1. Personality is self-consciousness

2. Personality is product of heredity only
3. Personality is always striving for certain ends

4. Personality is continually adjusting itself to environment

[

Question ID : 99836741354

Q.18 Which of the following is NOT one of the reasons why perception is important for the
developing child?

Ans 1. Acquisition of knowledge
2. Memory
3. Hand-eye-coordination

4. Rationalisation of child’s views

Question ID : 99836741345

Q.19 F=fafE@a & @ &= |1/@ 21 SIgyRT i gRT gl forar siar &/8?

1. ST e

11. fA=gor AT
111. IETE=0T 3T
V. A&teror &

Ans
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T.LIL v

2.0 maar v
3.1 gl
4.1, Nl g9r IV

[ Question ID : 99836741352

Q.20 Which of the following type of discipline is developed as a revolt against the authoritarian
discipline which many adults had been subjected to during their childhood?

Ans 1. Motivational discipline
2. Authoritarian discipline
3. Democratic discipline

4. Permissive discipline

[ Question ID : 99836741348

Section : Discipline2

Q.1 Which of the following is/are characteristics of a teacher-centered approach of teaching?

|. Teacher concentrates on right answer
1l. Teacher is mostly concerned with the completion of the course content
11l. The focus is on learning than teaching

Ans 1.landll
2. land Il
3., and 1Nl
4. 1land lll

[ Question ID : 99836741371

Q.2 In Demonstration method of teaching, during demonstration, a student gets opportunities
for

I. Observation
1. Note making
11l. Questioning
IV. Drawing

Ans 1.1, llland IV

2.1, 1, Nand IV
3.1, 1lland IV
4.1, 1land Il

[ Question ID : 99836741373

Q.3 A number is written in the form of p/q where p and q have 1 as the only common factor with
g > 0. This number is said to be the standard form of which of the following?

I. Irrational number
1I. Rational number

Ans 1.Bothlandll
2. Neither I nor Il

3.0nly |
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4.0Only Il

[ Question ID : 99836741384

Q.4 Which of the following type of school environment will not make education more effective
and will not be conducive to learning?

Ans 1. The teaching-learning materials are properly stored and are available in plenty to children
2. The teacher is friendly and understanding
3. The classroom are spacious with adequate space for free movement

4. The light and ventilation in the classroom is not adequate

[ Question ID : 99836741366

Q.5 The language found in literature is different from the ordinary usage of the language. How
can we differentiate between the two?

1. By studying the forms of language used in literature
1. By analyzing the word formation and sentence structure in literature
11l. By studying the synonyms and simile used in literature and the language used ordinarily

Ans T.landll
2.1, 1land I
3. land llI
4. Iland Il

Question ID : 99836741382

Q.6 For group discussions, a teacher needs to provide pupils with training and support. Which
technique she should adopt to achieve this?

1. She needs to provide the kind of collaborative activities that promote active involvement
of all pupils.

1I. She needs to model the way she wants pupils to interact with each other.
Ans 1.Bothlandll

2.0nly I
3. Neither I nor Il

4. 0nly |

[ Question ID : 99836741368

Q.7 What are the roles of speakers of a language?

I. They help the linguists in preparing grammar and dictionaries
11. They tend to form the basis of a language by practicing and propagating it
11l. They only focus on speaking and not on writing

Ans T.llandlll
2. land |l
3.1, 1land I
4. 1and Il

[ Question ID : 99836741381

Q.8 Which of the following is NOT an Audio aid used by a teacher in classroom?
Ans 1. Models

2. Cassette

3. Radio broadcasts
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4. CD player

[ Question ID : 99836741380

Q.9 is considered as appropriate for creating social atmosphere in the classroom where
the children are facilitated to have enough scope to interact with each other.

Ans 1. Small Group Learning Strategy
2. Large Group Learning Strategy
3. Medium Group Learning Strategy
4. Very Large Group Learning Strategy

Question ID : 99836741379

Q.10 Which activities are encouraged by a teacher in constructivist classroom?

I. Experimentation
1. Project work

111. Field trips

IV. Visuals

V. Class discussion

Ans 1.1 1Il,IVandV
2.1, 11,1V and V
3.1, and V
4. 11011, 1V and V

Question ID : 99836741372

Q.11 In Cooperative learning method, for student achievement to improve considerably, which
characteristics should be present in every group?

I. Success is not reliant on each individual’s learning
1l. Students are looking towards a group goal or recognition

Ans 1.0nlyll
2.0nly |
3.Bothland Il

4. Neither | nor Il

Question ID : 99836741377

Q.12 What is/are the benefits of Collaborative learning?

I. Students learn to work with diverse types of people

11. Students learn to relate to their peers and other learners as they work together in group
enterprises

11l. Students take more ownership of their material and think critically about related issues
when they work as a team

Ans T.landll
2. land Il
3. 1land il
4. 1, 1land Il

[ Question ID : 99836741378

Q.13 In learning centred approach to learning, according to Weimer the content facilitates
students to
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1. build an appreciation for value of content

1l. practice using inquiry or ways of thinking in the discipline

11l. develop a way to learn through content and make meaning out of content
Ans 1.1landlll

2.1, lland I
3.land Il
4. landlll

Question ID : 99836741376

Q.14 Which of the following statements is true?
Ans 1. English is the national language of India

2. According to Official Language Act, English is the permanent “associate official language”
of India

3. To protect multilingualism, Indian constitution adopted English as the official language of
India

4. All the Indian states are bound to adopt “Hindi” as their state language

[ Question ID : 99836741383
Q.15 method of teaching is also known as ‘Inquiry method'.
Ans 1. Inductive and Deductive method
2. Discovery method
3. Problem solving method
4. Lecture method
[ Question ID : 99836741374

Q.16 According to Kolb’s model, in which learning style, students choose to work in groups, to
listen with an open mind and to receive personal feedback?

Ans 1. Assimilating
2. Diverging
3. Accomodating

4. Converging

[ Question ID : 99836741375

Q.17 Which of the following is not true about right kind of educator?
Ans 1. Must not let student make him their ideal

2. Must free himself from books and laboratories
3. Must not let students be engulfed in their own self enclosing pursuit

4. Must look the success of his students as own success

Question ID : 99836741365

Q.18 According to Bandura, which of the following processes are involved in Observational
learning?

I. Attention process

Il. Retention process

11l. Motivational process

IV. Motor reproduction process

Ans 1.1, llland IV
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2.1, 1, Nand IV
3.1, lhand IV

4.1, land Il

Question ID : 99836741367

Q.19 What is the relevance of Behaviour modification approach in classroom teaching?

1. Repetition without reinforcement does not enhance learning
1I. Punishment is not very effective for eliminating undesirable behaviour

Ans 1.Bothlandll
2.0nly |
3. Neither I nor Il

4. 0nly Il

[ Question ID : 99836741370

Q.20 What a child perceives is largely a function of his

I. previous experiences
1. Assumptions
11l. purposes

Ans 1| llandlll
2.0nly |
3.lland Ill
4. Only Il

Question ID : 99836741369

Section : Discipline3

Q.1 Choose the word that can substitute the given sentence.

An examination of a dead body
Ans 1. despotism

2. autopsy
3. flancee

4. oligarchy

[ Question ID : 99836741398

Q.2 According to the discussion, division in the natural numbers is the reverse process of

1. Addition
1I. multiplication

Ans 1.Bothlandll
2. Neither I nor Il
3.0nly |
4.0nly Il

Question ID : 99836741391
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Q.3 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Time have destroyed (1)/ all his works (2)/ as well as his statue (3)/ No error (4)
Ans 1. Time have destroyed

2. all his works
3. as well as his statue

4. No error

[ Question ID : 99836741394

Q.4 Sooraj gave two statement about him i.e “l am good at algebra” and “l am a poor swimmer”
Bandura consider such judgements made by Sooraj as

1. self-efficacy appraisals
11. self-evaluative standards

Ans 1.Bothlandll
2.0nly |
3. Neither I nor Il
4.0nly I

[ Question ID : 99836741404

Q.5 In programmed instruction of , materials are largely physical. She thought young
children find such physical activities more natural.

Ans 1. B.F Skinner
2. George Polya
3. Maria Montessori

4. Carol Gilligan

Question ID : 99836741403

Q.6 Choose the word that is opposite in meaning to the given word.

Bright
Ans 1. easy

2. collect
3. vivid
4. dull

Question ID : 99836741396

Q.7 Choose the word that is opposite in meaning to the given word.

Authentic
Ans 1. revive

2. false
3. power

4. expand

Question ID : 99836741395

Q.8 The numbers that are found to have been constructed to measure different parts of a
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complete object are known as

Ans 1. Fractional numbers
2. Irrational numbers
3. Natural numbers

4. Imaginary number

[ Question ID : 99836741392

Q.9 (a+b)+c=a+(b+c)=a+b+c The given expression represents which property of
addition in natural and whole number?

Ans 1. Associative property
2. Commutative property
3. Additive identity in whole numbers

4. Closure property

Question ID : 99836741386

Q.10 Choose the word that means the same as the given word.

Anxious
Ans 1. confined

2. scared
3. dauntless
4. tender
[ Question ID : 99836741397
Q.11 is the product of lowest powers of each of the prime factors that commonly occurs in

both the number.

I. Highest common factor
1l. Least common multiple

Ans 1.Bothlandll
2.0nly Il
3.0nly |

4. Neither I nor Il

Question ID : 99836741385

Q.12 +rand -rare
Ans 1. Divisible

inverse of each other.

2. Multiplicative
3. Additive

4. Subtractive

[ Question ID : 99836741389

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Show up
Ans 1. gatherin
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2. represent

3. appear

4. begin to lose

Question ID : 99836741399

Q.14 In which of the following numeral system, one is indicated by a dot and five is indicated by a
bar.

I. Roman system
11. Babylonian system
11l. Mayan system

Ans 1.1 1landlll
2. 0nly Il
3.0nly|
4. 0nly Il

Question ID : 99836741393

Q.15 Which of the following is/are the geometric figures with the line of symmetry?

I. Rectangle
1. Isosceles triangle

Ans 1. Neither I nor |l
2.0nly |
3.0nly Il
4.Bothland Il

Question ID : 99836741390

Q.16 Which of the following is the initial step/stage of experiential learning cycle?
Ans 1. Generalizing

2. Experiencing
3. Processing

4. Publishing

Question ID : 99836741388

Q.17 Which of the following digit will have the same place value at any place of a number?
Ans 1.1

2.0
3.3
4.2

[ Question ID : 99836741387

Q.18 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Apple-pie order
Ans 1. perfectly neat and tidy

2. to suddenly understand a problem

3. as it seems to be from the facts
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4. to protest strongly

[ Question ID : 99836741400

Q.19 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

You not show disrespect to your elders.
Ans 1. may

2. might
3. must

4. shall

[ Question ID : 99836741401

Q.20 The concept of was very important for Kohlberg because it enabled him to explain the
direction of his stage sequence.

Ans 1. cross-cultural university
2. invariant sequence
3. structured wholes

4. hierarchic integration

[ Question ID : 99836741402

Section : Discipline4

Q.1 What does ‘Encourage pupils to build up their own word sets as an alternative to a picture
dictionary’ called?

Ans 1. Word families
2. Picture dictionaries
3. Vocabulary

4. Collages

[ Question ID : 99836741416

Q.2 Which of the following speaking activities is used for free communication?

I. Look, listen and repeat
1l. Dramatisation

Ans 1.0nlyl
2. Neither I nor Il
3.0nly Il

4. Bothland Il

Question ID : 99836741417

Q.3 Which of the following is NOT a technology resource in teaching — learning for EVS?
Ans 1. Mobile phones

2. Computers
3. Camera

4. Television
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Question ID : 99836741410

Q.4 fA=fafEa d @ &9 91 guR fAeror &1 gk TreE g 82
Ans 1. 99T & QI GeAT

2. 2TeT HIHT §
3. o=t
4. e ¥ fafdar

Question ID : 99836741412

Q.5 What could be reason to ask questions from listeners in story-based lessons?

1. To focus pupil’s attention.
11. To make them feel bad in case they have no knowledge about the topic.

Ans 1. Neither I nor Il
2.0nly |
3.Bothland Il
4.0nly I

[ Question ID : 99836741415

Q.6 Which of the following methods of teaching learning of EVS encourages children to explore
their environments and encourages them to use, think and establish connections?

Ans 1. Creative Expression Method
2. Project Method
3. Observation Method

4. Group Discussion Method

Question ID : 99836741407

Q.7 Speech bubbles can be useful for

I. simple dialogues
1. setting the scene

Ans 1. Neither I nor Il
2.0nly |
3.0nly Il
4. Bothland Il

[ Question ID : 99836741411

Q.8 Which of the following is a part of Interactive Role?
Ans 1. To create an atmosphere of mutual trust and respect

2. To encourage active reflection to develop greater understanding and self-awareness

3. To value diversity

4. To provide opportunities for self direction and choice

[ Question ID : 99836741420

Q.9 What comes under ‘writing at sentence level’ writing activity?
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1. Captions for pictures
1l. Menus/shopping lists

Ans 1.Bothlandll
2. Neither I nor Il
3.0nly |
4. 0nly Il

[ Question ID : 99836741418

Q.10 Which of the following principles is/are adopted by the special session on children of the
United Nations General Assembly in May 2002?

I. Educate every child

1. Nourishment for all children
11l. Protect children from war
IV. Leave no child out

Ans 1.1, 1, Illand IV
2.1, 1land IV
3.1, 1land IV
4.1, land Il

Question ID : 99836741409

Q.11 Which of the following activities can enhance cooperative learning in an EVS class?
Ans 1. Asking the students to collect different kinds of leaves and paste them in their notebooks

2. Asking the students to think of the recent travel that the studentshave undertaken and to
discuss it with other students in the class

3. Asking the students to individually visit a post office with their parents and observe the
work that is happening there

4. Asking the students to read from their textbooks

[ Question ID : 99836741408
Q.12 What is the aim of teaching English?
Ans 1. Creation of multilingualism which can enrich all our languages
2. As it does not stand alone
3. Since it must be seen in relation to other subjects
4. As it is spoken in America
[ Question ID : 99836741422

Q.13 Which of the following is NOT a theme included in the EVS syllabus for class Il to V?
Ans 1. Water

2. Shelter
3. Travel

4. Wealth

[ Question ID : 99836741406

Q.14 According to whom, our ancestors became capable of tool use when they came down from
the trees and began living on level ground?

Ans 1. George Polya

2. Friedrich Engels
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3. John B Watson
4.N.J. Fine

[ Question ID : 99836741405

Q.15 Pupils can be taught to ask themselves questions about their learning in order to reflect on
the content and process is called

Ans 1. self assessment
2. comparing
3. hypothesising

4. self questioning

[ Question ID : 99836741419

Q.16 What do you mean by ‘establish ground rules’?
Ans 1. To ensure that children work together on a computer and tell them that they take turns

2. To make sure that you are familiar with the website
3. Asking children to complete a gap-fill

4. To ensure that children respect the hardware and software

[ Question ID : 99836741423

Q.17 Which of the following is not correct about ‘stories’?

Ans 1. Storybooks add variety and provide a springboard for creating complete units of work
2. Storybooks allow the teacher to use an acquisition-based methodology
3. Listening to stories help children become aware of rhythm, intonation etc

4. Storybooks makes learning least meaningful for each child

Question ID : 99836741413

_— S

Q.18 What does development of metacognitive awareness includes?

1. Nature of the learning task.
1. Knowing about oneself as a learner

Ans 1. Neither I nor |l
2.0nly |
3.0nly I
4.Bothland Il

Question ID : 99836741424

Q.19 What is included in stage 1 of productive computer session?

I. Contextualize work
11. Explain the purpose of the task

Ans 1.0nlyl
2.Bothlandll
3. Neither I nor Il

4.0nly Il

Question ID : 99836741421

@ Teachingninja.in



Q.20 Which is the third level in story-based methodology other than plan and do?
Ans 1.Read

2. Review
3. Rewrite

4. Reassure

Question ID : 99836741414

Section : Discipline5

Q.1 On which of the following points should a teacher rigorously focus on while planning a
lesson?

I. Framing the learning objective
1. Selecting the teaching - learning strategy
11l. Selecting teaching learning activities and learning experiences

Ans 1.landlll
2. 1land lll
3.land I
4.1, 1land Il

Question ID : 99836741441

Q.2 Which of the following statement(s) is/are correct?

I. Product of two positive numbers = Sum of their highest common factor and least common
multiple

11. Product of two positive numbers = Product of their highest common factor and least
common multiple

Ans 1.0nlyll
2. Neither I nor Il
3.Bothlandll
4. 0Only |

[ Question ID : 99836741433

Q.3 Which of the following is/are the advantages of using discovery approach to teaching
science in the classroom?

I. Students enjoy learning because they themselves discover knowledge.
1I. There is constant interaction between content, teacher and the students resulting into
development of information processing abilities of the students.

Ans 1.0nlyll

2. Neither I nor Il

3.0nly |
4. Bothland Il
[ Question ID : 99836741439
Q.4
Ans 1.0nlyll
2. lland lll
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3.0nly |
4.1, land Nl

Question ID : 99836741435

Q.5 Which of the following is true about collaborative assessment?

I. Focuses on abilities, strengths and needs
11. Focus only on assessment approach

Ans 1.0nlyl
2.Bothland Il
3. Neither I nor Il

4.0nly I

[ Question ID : 99836741444

Q.6 Which of the following statement is correct about RHS congruence of triangles?

Ans 1. If two angles of one triangle are congruent to the corresponding angles of the other
triangle and the sides included between them are congruent, then two triangles are congruent

2. If the hypotenuse and one side of one triangle are respectively congruent to the
hypotenuse and the corresponding side of the other triangle, then two right angled triangles
are congruent

3. If two sides of one triangle are congruent to the corresponding sides of other triangle and
the angles include between them are congruent, then two triangle are congruent

4. If three sides of one triangle are congruent to the corresponding sides of the other
triangle, then two triangles are congruent

Question ID : 99836741434

Q.7 Which of the following techniques can be used to introduce new vocabulary?

I. Translating
11. Eliciting

Ans 1.0nlyll
2. Neither I nor Il
3.0nly |
4. Bothland Il

[ Question ID : 99836741425

Q.8 Which of the following statement(s) is/are correct regarding nature of social science?

1. Social science are advance level studies of human society.

11. Social Science contribute to the social utility and advancement of knowledge.

11l. Social Sciences are those aspects of knowledge which have direct bearing on man's
activities in different socio-cultural fields.

Ans 1.0nly lll
2.Bothland Il
3.1, 1land Il
4.Both land Il

[ Question ID : 99836741428

Q.9 Guba and Lincoln (1981) suggest that the evaluation generates five kinds of information.
Which of the following is that kind of information?

I. Information about values
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1l. Information about standard to merits
11l. Information about relevant issues

Ans 1.1, Ilandlll
2. 1and Il
3.land I
4. 1land Il

[ Question ID : 99836741436

Q.10 Which of the following statements regarding unit plan in teaching learning process is
correct?

1. It is an outline of the program of action after determining the subunits
1. It is a detailed plan which consists of intended learning outcomes, teaching - learning
strategies and activities and assessment tools for learning outcome

Ans 1.0nlyl
2.0nly Il
3.Bothland I

4. Neither I nor Il

[ Question ID : 99836741440

Q.11 Which of the following is the MOST appropriate critical question a teacher can ask while
teaching the topic of ‘People and Environment'?

Ans 1. Define environment.
2. Are people affected by their environment?
3. What are the features of environment?

4. How will the earth be if there are no forests at all?

[ Question ID : 99836741426

Q.12 Which of the following statement regarding discovery approach to teaching science is/are
correct?

I. Some cues in the form of learning material are presented by the teacher to the students.
1l. The students using inductive thinking are expected to discover the concept or rule.

Ans 1.0nlyll
2.Bothland Il
3.0nly |

4. Neither | nor Il

Question ID : 99836741438

Q.13 Which of the following source/sources is/are included in Archaeological sources of history?

I. Pottery

1. Inscriptions on rocks
11l. Terracotta figures
IV. Religious Literature

Ans 1.1l 1lland IV
2.1, land IV
3.1, lland IV
4.1, 1land Il
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Question ID : 99836741427

Q.14 Which of the following is true about inclusive education?

I. Changing the existing environment
1. Differentiated teaching methods being used

Ans 1.0nlyll
2. Neither I nor Il
3.0nly |
4. Both land Il

[

Question ID : 99836741443

Q.15 Which of the following science teaching method is most suitable for small children who
cannot discover truths for themselves?

I. Deductive reference
II. Inductive reference

Ans 1.Bothlandll
2. Neither I nor Il
3.0nly |
4.0nly I

Question ID : 99836741437

Q.16 Cost price of a pen is Rs 4. If pen is sold at a profit of 150%, then what will be the selling
price of pen?

Ans 1.Rs6

2.Rs 10

3.Rs 12

4.Rs 8

[ Question ID : 99836741431

Q.17
Ans 1.

2.

3.

4.

Question ID : 99836741432

Q.18 Which of the following is/are feature(s) of a learner centered social science class?

I. Creating space for exploration into social issues.
11. Respect for multiple views.
11l. Use of multilinguism.

Ans 1.0nlyl
2.Bothland Il
3., and 1Nl
4.0nly I

Question ID : 99836741430

@ Teachingninja.in




Q.19 Which of the following approaches adopted by social scientist in understanding political

science focuses on formal apparatus of politics — government, institutions, constitutions
and states?

Ans 1. Philosophical Approach
2. Legal - institutional Approach
3. Psychological Approach

4. Behavioural Approach

[ Question ID : 99836741429

Q.20 ______is knowledge of classification, principles, models or structures pertinent to a
particular disciplinary area.

Ans 1. Procedural knowledge
2. Metacognitive knowledge
3. Conceptual knowledge

4. Factual knowledge

Question ID : 99836741442
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